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EER HAE(E 91 mN/h 0.04 g/mN 700 mg/mN 250 ppm
28R mEBIEY (L CA BiekEk ERBILY
HAZERME |[EZAERT—U8| BRATRT—V8 [ ERATRT 8| BERATRT—IH
HEARHB 3 A 22 @H| 3 A 22 B 3 A 2 Bl 3 A 22 H
wEAH 3 A 29 8| 3 A 29 BH| 3 B 2 A| 3 A 29 H
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2,002.09 1,310.50 7.23 3,319.82
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t t °C °C °C °C ppm ppm
123t =800°C FHL1200°CLT =100ppm
1 110.26 906 170 3
2 113.13 906 170 4
3 101.45 914 170 4
4 107.36 911 170 4
5 109.80 912 170 4
6 110.09 912 170 4
7 107.09 914 170 4
8 110.01 908 170 4
9 110.77 905 170 5
10 110.11 912 170 4
11 107.39 917 170 4
12 109.96 906 170 4
13 109.73 906 170 4
14 109.90 903 170 4
15 106.78 908 170 4
16 110.11 901 170 4
17 111.62 907 170 4
18 19.42 109.77 901 170 5
19 106.98 105.54 912 906 160 160 3 4
20 112.15 110.04 916 901 160 160 3 4
21 109.58 109.29 915 907 160 160 3 3
22 106.96 107.18 917 909 160 160 3 4
23 114.50 918 169 4
24 112.75 919 170 4
25 112.12 918 170 4
26 109.73 919 170 4
27 106.85 921 170 4
28 107.26 917 170 4
29 103.90 905 168 5
30 102.50 907 160 4
31 107.03 915 160 5
=X 1,431.73 2,397.38
2R A E 3,829.11
iy 108.64 108.97 915 908 165 168 4 4




